Mental Computation (End term 2 - Sample 1)

1 (N6.2)




−5 − 2
























































(−7)
2 (NDB6.3)

Simplify:  b5b−3
















































(b2)

3 (PA6.2)


Expand:  (x + 3)(x – 1)








































(x2+2x-3)

4 (N6.1)




Write  74 000 in scientific notation






























(7.4x104)

5 (N6.1)




If the annual rate is 30%, what is the monthly rate?














(2.5%)

6 (N5.3)




If a car uses 9 L per 100 km, how much petrol for 400 km?







(36 L)

7 (PA6.1)


What is the quadratic formula?
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8 (PA6.1)


5x2 – 2x – 3 = 0.  What are the values of a, b, and c?









(a=5,b=−2,c=−3)

9 (S6.1)




What is the angle sum of a hexagon?




























(720°)
10 (S6.1)




What is the symbol for corresponding angles?




















(F)
Mental Computation (End term 2 - Sample 2)

1 (N6.2)




−4 − −5























































(1)
2 (NDB6.3)

Simplify:  a3a−5
















































(a−2)

3 (PA6.2)


Expand:  (x - 2)(x + 4)









































(x2+2x-8)

4 (N6.1)




Write  350 000 in scientific notation





























(3.5x105)

5 (N6.1)




If the annual rate is 24%, what is the monthly rate?














(2%)

6 (N5.3)




If a car uses 11 L per 100 km, how much petrol for 500 km?






(55 L)

7 (PA6.1)


What is the quadratic formula?
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8 (PA6.1)


3x2 – 4x + 2 = 0.  What are the values of a, b, and c?









(a=3,b=−4,c=2)

9 (S6.1)




What is the angle sum of a pentagon?




























(540°)
10 (S6.1)




What is the symbol for alternate angles?


























(Z)
Mental Computation (End term 2 - Sample 3)

1 (N6.2)




−6 − −2
























































(−4)
2 (NDB6.3)

Simplify:  d4d−7

















































(d−3)

3 (PA6.2)


Expand:  (x - 3)(x + 4)










































(x2+x-12)

4 (N6.1)




Write  2 600 000 in scientific notation




























(2.6x106)

5 (N6.1)




If the annual rate is 18%, what is the monthly rate?















(1.5%)

6 (N5.3)




If a car uses 8 L per 100 km, how much petrol for 400 km?








(32 L)

7 (PA6.1)


What is the quadratic formula?
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8 (PA6.1)


5x2 + 2x - 4 = 0.  What are the values of a, b, and c?









(a=5,b=2,c=−4)

9 (S6.1)




What is the angle sum of an octagon?




























(1080°)
10 (S6.1)




What is the symbol for corresponding angles?





















(F)




























































